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INSTRUCTIONS TO CANDIDATES

1. Immediately after the cormmencement of the Examination, you should check that
this Booklet does not have any unprinted or torn ar missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available serias.

2. Write clearly the Question Booklet Version Code A, B, C, D orE, inthe appropriate
space provided for the purpose, in the QMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader {O.M.R.) system, special care should be taken to fill those items
accurately,

4. This Question Booklet contains 70 guestions carrying equal marks. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. if more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks wili be awarded,

6. Questions are in both English and Kannada. if any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the finial bell indicating the closure of the examination, stop making
any further markings iR 4t OMR Answer Sheet. Be seated tilt the OMR Answer
Sheat is collected. Afjer handing over the G MGbwer Sheet to the Invigilator
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. The World Envircnment Day is celebrated on

a} 6" June b) 6t August ¢} 5t June, d) 215'May
DB, WORT OTBR Berd B30BRIHBE

a) %R 6 Zomd b) wnx®, 6 o> c) wea® 5 Bord d) e 21 dordd

. Carbon monoxide is a pollutant because

a) Reacts with oxygen b} Inhibits glycolysis

¢} Inactivates central nervous system d) Reacts with haemoglobin
2omes Bpmd B IROFTTE, i D

a) uEEStEREs B3R b} 1} BedarTSrEnusge

¢} dect FODoBOBR, 008> BRBIS d) &dneaigus” wd I3zl

. Alithe foilowing are consequences of air potlution except

a) Acid precipitation b) Eutrophication ,
c) Depletion of the ozone layer : d) Global warming
QT wod=RdE ZpTERe,
a) ey riotoBNg b) cdwtdnedders
c) ey H3C Ssbmerhad d) zonsd USSR
. Freon gas causing stratospheric ozone depletion is mainly released from
a} Refrigerators b) Thermal power plant .
¢) Automobiles d) Mobile phones

9 Hpe,o0's badnes® B0 dhaened R0t FRODT $ROR) rded
BRI

a) Bawmtersts b) ema"ga ész:bﬁa‘ m@ﬁd
C) TINPOT d) o’ e neos

. Nitrous oxide has a life span in the atmosphere of about

a) 300years b} 20-100years c¢) 114 years d) 12 years
PRTIRCYF mCHIFS ef B JUHRO DTS

a) 300 SFrrisd b) 20 - 100 I\ sd ¢} 114 SRrnsd d) 12 Sz nd
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6. Which of the following is not a green house gas ?

a) Water vapour b) Oxygen ¢} Carbon-di-oxide d} Methane

arh AW BB whwsy

a) T b} s ¢} worpon T «g wf d) EE
7. The percentage of fresh water available is

a) 71% b) 100 %

.C)25% d) None of the above

[t RS ke VEOT BeddE e : :

a) 71% b} 100 % c)25% d) cnRPuie o,
8. Depletion of oxygen or BOD in water causes

a) Increase in biodiversity ‘ - b) Death of aguatic animais

c) Makes water more fit for drinking d} None of the above

QeoN D% walyad degBoiot (BOD) amh olomgds
a) R FIG3 ézg}i

b) zerdond mn)

C) e BoROWED o3REICTIN BREF

d) e cdnFmn wey

9. Anthropogenic causes for the increase in atmospheric CO, concentration are

a) Fossilfuel combustion . b} Cement manufacturing
c) Deforestation d) All the above
ERTRIT vorwes B o, B WP Be3gd TR InaTey w0 20
a) ToBNY 137 b) Aot wveorss
C) &0 ™3 d) 22603 oo,
10. Fruits and vegetables are rich in
a) Minerals b) Vitamins - c) Bothaandb d) Chitin
&aga D) SO AIrived spdds
a) LRwrsd b) eQmﬁ% c) amB)badEe  d) §T
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.

12,

13.

14,

15,

Vitamin 'A' deficiency leads to

a) Blurred toes and fingers

¢} Nightblindness ,

‘A moncd drddetootng TorRD
a) Bosbmone oY nee

€) AT,

Ascorbic acid is rich in

a) Milk, curd, butter and cheese

¢) Citrus fruits .

emUTRE G QESSE) TN
a) Toew, SRR, B, JFy o,

c) Sowodg ﬁta%ﬁ%

HIV stands for

a) Human immuno-deficiency Virus.,
c) Heavy Industrial Vehicles

HIV o3 Q72 dead

a) BT ARNER - B&oDY, FOIT
¢} B aod%uwo* ot o (d

Who is considered as father of yoga ?

a) Charaka

c) Pathanjali Maharshi «
omen'aazéa’ &BH0T

a) 3g8 b) oootdess

Best way of disposing bio-medical waste is
b) Open dumping

a) Incineration

MS - 603

b} Anaemia
d) Scurvy

b) gtaesd
d) %&)F

b} Vegetables and fruits
d) Egg

b) 3Ts20 &%) Ssaga
d) S8,

b} Hindustan Inter Virus
d) Human Intervention Virus

b) E0RRTRAT BOKO* SO
d). ERTR QLT IITS YO

b} Ramdev
d) Bothaandb

c) FBomOF0D  d) a DR b

c) Landfills, d) Openbuming

HoE Brgoing und eugsd dSrEs O

a) BP0 SBTARIE)
€) PRy Bedh

b} 3803 o2 e
d) w&donmon e

" SPACE FOR ROUGH WORK

1




MS

16.

17.

18.

19.
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Expand NIOSH

a) National Ingtitute for Occupational Silicosis Health
b} National Institute of Occupational Service Heaith

c) National Institute of Occupational Safety and Healith
d) National Institute of Oceanic Science and Health
NIOSH 30538 des

a) National Institute for Occupational Silicosis Health
b} National institute of Occupational Service Health

c) National Institute of Occupaticnal Safety and Health
d} National Institute of Oceanic Science and Health

Iron deficiency leads to

a) Anaemia -

b} Improper transportation of regpiratory gases
¢) Increase in maternal and infant mortality

d) Allthe above

BexoOS ﬁ%ﬁaoﬁd Sptidod o

a) Ogesd b) evroos fodioh Boad

€} BooW #3383 BENT WL, £z§§? d) Boeds e,

Siddha system of medicine is a helistic approach which is a major contribution of
a) Baba Ramdev b) Siddha Agastiyar

¢} Ravi Shankar Guryji d} Jakki Vasudev

Sagacs A B DEdeh Yavd dowd
a) o oootdess b) a3 esrmp’ . C) BBos® ’oger d) g ROTeS

The alternative system of medicine based on the principle that “Like cures like”
a) Naturopathy b) Homeaopathy c) Allopathy d} Ayurveda
g5 BR0° ST 2R 5008 FTsead t‘dd@é Pleate]

a} Judeeme b} @rpeoodecdd ©) wdeedd d) wedoseed

SPACE FOR ROUGH WORK
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21,

23,

24,

Dissolved oxygen in water comes from
a) Photosynthesis of aquatic plants ,
¢) Oxidation

Qe03d SOACT HEsen R

a) wergne w3 Radenrs

c) e.méﬁrz%

POP stands for

a) Persistent OrganicPesticides
¢) Permissable Organic Pollutants
POP o 27,8 0@

a) Persistent Organic Pesticides
¢} Permissable Organic Pollutants

. Fluorosis affects

a) Kidney. b} Bones
FpBrearHor TRRENIRS eon
a) Swegrasocn b) e

An example for water borne disease
a) Malaria by Hiv

MS - 603

b} Diffusion of atmospheric oxygen
d) Bothaandb

b) o3a0nt RyaEn Jocdnens
d) a % b

b) Persistent Organic Plastics .
d) Purifiable Organic Petrochemicals

b) Persistent Organic Plastics
d} Purifiable Crganic Petrochemicals

3

e me@aoddabd oottt arh ewEsH

a) geoodR b) Zwr.ad.

¢) Teeth d) Bothband¢
c) Beyrsh d) b 2oy c wEe
¢} Cholera. d) Asthma

¢) ®eds d) o=y

ltai-itai disease in Japan caused by consumption of rice contaminated with

a) Mercury, b) Cadmium

c) lron d) Carbon

BIRTIG, 8oLt @IOA-REIEN FooLSoIL VLT WO

a) ool b) s avedo

c) s!agga d) womow
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25,

27.

28,
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The term “Ecology” was termed by

a) Ernst Haeckel b) Mendel -C) Robert Cook
“eamond! mw Wl

a) et By seT b) Soozges

C) TowEr B d) wwotos® a%éwc‘

. Permissible thickness of plastic cover used is

a) 40 microns . b} 20 microns ¢) 100 microns
uBadRANFLD RS [Tss AT Wl T
a) 40 B b) 20 8", c) 100 A
Amoebic dysemery is caused by
a) Virus | b} Bacteria ¢) Protozoa
B8R0 Hedr BT 2ed
a) s3ooe b) wadcocun ¢) Zpulecdne
The chief function of vitamin K is to regulate
a) Appetite b} Blood clotting ¢) Resistinfection
‘K esm*orid 008), BRODF, fadsigt DoAY
a) wernrgod b) S EBPrens ) Anecwd AEHTF
Noise is measuredin
a) Frequency b) Decibles . ¢) Dcbhson
Beye3 Se3Boda esdosns SueRRS
a) gPorwees b) g’ c) mWAS

. The pH level of acid rain water is
a) 5.7 b} 4.0 ¢} 56
o5y, B 20T pH Zaeen
a) 5.7 by 4.0 c) 56

d) Louis Pasteur

d} 10 microns
@ 1088,
.d} Fungi
d)-2dec

d) Blood thinning
dy dg 3sbemriesd
d} Velocity

d) Ferd

d) 6.0

d) 6.0
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31. The birth of autistic children in Dakshina Kannada District is due to the use of

pesticide
a) Endosuifan b} Metacid c) DDT d) Atrazide

cito s o wertiog, wort sigqduved dond Y ERY oD
a.jal)&) BeLSYE

a) QOBREHR b) srnaes c) 8.3, d) weRAnE
32. Energy stored in the earth is :
a) Magma -~ b) Geothermnal ¢) Tidal d) Wind
Beaoed VS Borohods 23
a) »ry b) wclpegaore  ¢) HEer dy me
33. Knock-knee syndrome is caused by
a) Fluoride pollution b} Land pollution
¢) Mercury pollution : d) Arsenic pollution
‘e~ ool nd Zomesh .
a) FpeE INOR, b) win RndF
¢) @R Fnedg d) wotAes Sndg
34. The eco-friendly fuel is
a) Petrol b) CNG . c) Kerosene d) LPG
TORT Xeto QOTTE VEIBTTE
8) Jdpew* b) 2a.o%. 2 c) hmrs:a d) oor.2.8
35. Expand BOD
a} Biclogy of Development b) Biological Oxygen Demand
¢) Bio Oxygen Deformation d) Biological Organic Deterioration
BOD ab 2”2 dodd
a} Biclogy of Development b) Biolegical Oxygen Demand
¢) Bio Oxygen Deformation d) Biclogical Organic Deterioration
SPACE FOR ROUGH WORK
A
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38.

37.
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Natural aerosol amongst these is

a) Salt | b} Soot c) CFC d) Silver acetate

BT TR, LE TOCRITE, RIS

a) ey, b} SBer

¢) CFC d) 23%&1: eag,sder3

Which among these is a life style disorder ? _

a} Typhoid b} Cholera ¢) Obesity , d) Dysentery

B3 NS R RemSBboomnD eﬂﬁd'cge’ ?

a) HTBR w0 b) mev ¢} weey, d) e3:808
. Bio indicators of air pollution is !

a) Algae b) Pinus ¢) Lichens d) Fem

od0 BROFE ¥id8 eEnvons

a) =0l by ZS=° C) sy BN d) =deh
. A balanced diet should have the following in required proportions

a) Carbohydrates b) Proteins

¢) Vitamins and minerais d) Allthe above .

AZpeed UE0sy) ATdeD BRRWBE

a) B3 amnsd b) Pprieoned

¢) DuxTEh 333 DR d) Biaey esosreh
. Home remedy for common cold and cough is

a) Cinnamon and honey . b} Apples

c) Curry leaves d} Aloevera

mERT, by BB a@§ o> Fod TRy

a) R, BBy BeHd>  b) Aeew c} #oeded d) edeeda

CDANE FNO BNlIGH WwhDle
L= B BT DL L 1Y

B . TivnSurandrs ww
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41. Goddess of medicine is (of Greek origin). 2
a) Hypiea b) Aesculapius c) Panacea d) Phoenix

Aes® teBnd) wotdodenn B wpdesd
a) FHo8® b} wrsatieucdn’ ¢) Ddeacdn d) Qe
42. Ozone hole formation is maximum in
a) Africa b) India c) USA. d) Antarctica
elne® HO0E ToRd A LOsRAtEH
a) BH® b) mo2 ¢) cloamra d) escimiirs
43, Polic-myelitis is due to
a) Fungi b) Bacteria c) Virus d) Protczoa
Fpedodne FOtien® TG0 BEOBE
a) 5o b} e dsocim c) ooead d) Fpadeeincm
44. Bagassosis is due to
a) Soil dust b} Manganesedust ¢) Cane fibre d) Cotton fibre
WIRADEART REI00T eviTiedaes
a) Sl Ped b} SReorner get c) iaa# % d) ®8 At
45, Sick building syndrome is due to
a) Cladosporium b) Bacteria c) Aspergilius d) Algae
B ST, DRNF o0 Boded
a) BHERRRORF b) Wy dedain C) WRTORF, d) ==
46. Chiefcomponent of bio-gas is
a) Hydrogen b} Methane
¢) Carbon-monoxide d) Sulphur
8 ©Ros S0, P
a) wexss b) ooglest
c) faomodﬁramidzzf d) nogd
' SPACE FOR ROUGH WORK
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47.

49,

50.

51.

52,

Root extract of plant is used in the treatment of cancer.

a) Sunflower b) Jasmine ¢) Rose d} Vincarosea

e 0r T Been rbrasashd !Eﬁ@aba{gl B R0 dednon #oﬁbﬁ:@gd

a) FRoDFTI03 b) Sodr C) e d) Homdeeaoin
. The size of the particulate matter which can enter alveoliis less than

a) 0.5 microns . b} 10 microns

¢} 20 microns d) 30 microns

u9, cdneed Wa3edR05I ReS sny mg facﬁzao@ zaﬁﬁmnd:gd

a) 0.5 Hm", b) 10 yma*, c) 20 T d) 30w,

Green house gas which is least influenced by human activity

a) Hydrogen b) Methane ¢} CFC d) Water vapour

SPEs w@e0mudn Koropaes Bath @3 6de .

a) BORSE b) aocient C) AFA d) QeTos

Pollutant which causes asthma

a} Ozone . b} Pollen dust

¢) Particulate matter d} Alithe above

SRR PSRN AROE Borkurg s

a) hdnes b) moendera> C) FroSEn d) RoedS eny

Milk is usually adulterated by

a) Pesticide b) Urea . ¢} Chalk powder d) All the above

BIURRORRF N VE0CT FOWTE SRBEBT

a) detioTs b) cdxedodn +C) ReTBoROY d) 30O ew,

Quality of honey and ghee is certified by

a) Eco-mark b} AG-mark - c) FPP d) CPCB

23erd 20y 2o mﬁagﬁa‘a’g QI PIRRIS zo%

a) siR-TNRTF b) 2e3-3ner ¢) T A d) adaw.

‘  SPACE FOR ROUGH WORK
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53. Which among these is a communicable disease ?

54,

56.

57.

58,

a) TB »
¢) Hypertension

83 BIASIYNPY, ae erorieen

a) gom
c) T3URIE

World AIDS Day is celebrated on

b) December 1.
DB, HE*, DI B0t endoRgesd

b) @zcwor 1

a) August 1

a) sm:ﬂ

2) New Delhi ,

o0 85 Teapoed 808 IROR o I

a) II3BO

Blood pressure of a normal person is

a) 140/90

8RR RS IR, TgriedE

a) 140/90

The basic science of preventive and social medicine is called

1 ¢} Epidemology
Bdworngd By TRt s BEmn S FP8TR ot
b) scdaemon

a) Dematology

a) dRrimon

b) Anthropology

b} Cancer

L N A T LY. Y

MS - 603

d) Cardio vascular diseases

b) 203

d) B Bored o

¢} November 1

¢) #Soro* 1

. Which city in India is reported to be highly polluted ?

¢} Chennai

c) ¥,

c) 120/60

c) 120/60

c) warEsoen

According to WHO-2015 report HDI ranking of India is

a) 150

c) 130

WHOZ 2015 © 300 g8 yoes HDI 3 3eotros

a) 150

c) 130

d) July 1

d) 2 1

d) Ahmedabad
d) eﬁa;bmmcs‘
d) 150/100

d) 1507100

d) Cosmology
d) TR
d) 160

d) 160

+ SPACE FOR ROUGH WORK
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59.

60.

81,

62.
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The stimulant present in Tobacco is

a) Cafteine b) Tannin ¢} Nicotine d} lodine
BoeTdIQT evBenTn0 el

a) gen* b) C) BRI, d) eolnean®
Oncology is the study of

a) Bones , b) Cancer c) Nerves d) Muscles
jo@m#ﬂd Satevensy) 'adﬁzﬂowomd’

a) e b) esenrdd ¢) =d d) Srasmor
Lower level of platelet count in blood is the symptom of

a) Typhoid b} Malaria ¢) Diabetes d) Dengue
TEBY, T S e Rogd, APNDTMOZT> 81 Srene og’;@

a) DRTBeI 0 b) =odeooin ) AkTOR . d) dongy

According to BiomedicalWaste (Managemem andHandling) Rules 1998, waste
should not be stored beyond

a) 12 hours _ #b) 48hours c) 72hours d) 96 hours
W03 RO T, 5e 00 19980 F5od e 0¥ T, v SuwR gy 1ames row
S

a) 12 rlotdrsh b) 48 riotdnsb ¢) 72 notdnisd d} 96 notirsh
. In Ayurveda Tridosha means

a} Vata, pitta, kapha » b} Physical, psychological, spiritual

c¢) Bothaandb d} None of the above

Clovoerniaiat a%c% ﬁqaamq; Srine owid

a) w3, &3, b) z:?a%a?, FIRT2E, cszpaé;iﬁ

c) azRb d) eI cIRJPTR 9e).

The enlargement of thyroid gland is due to the deficiency of

a) Fluorine b} lodine - c) Iron d) Zinc

g ooody, nofodd &rDEod Brd ErtEomng

a) Faeos* b) scdpeln® c) sa:ga d) 32

SMACE ' FOR HOUGH WORK'’
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65. When was family planning initiated in India ?
a) 1950 b) 1951 c) 1952, d) 1953
RUBEE B0y cdpemsot WdR word SEr
a) 1950 b) 1951 ¢) 1952 d) 1953
66. Solar radiations consists of
a) UVradiations +  b) Visible radiation ¢) Infra red radiation d) All these
RRODF BH0I) Briders SpRuE
a} 3 Feod 400 b) Haer 808 ¢) 8o 80 d) 00T ery,
67. Unani system of medicine originated in
a) Paris b} lceland c) Poland d) Greece «
BN Be3Bodoo wortadamets ooag,
a) 0x b) tozboozy : C) FpoRow” d) fes

. The biological decomposition of organic substances in controlled conditiohis

a} Sanitary landfills b} Incineration , ¢) Composting d) Pyrolysis
A0 RN o208 DpiSodd HEeIY

a) A0 L oE Do’ b) AR
¢) Ret)8@oa3rs d) Firedrze
69. Chemicals released in the human body in response to allergens is
a) Histamines b) Antihistamines
¢) Phenols d) None of the above
Rrecsd BrOOTRN SR E e, HV8 SRR oY
a) &Gl b) eotdim
¢) I, d) oed3 oInyed wey
70. Protein deficiency leads to
a) Kwashiorkor b) Scurvy ¢) Beri-Beri d) Pellagra
Tprie® Bnodotny wok, soemnr g
a) s xodnesr ot b) g&)r c) Jo-tdo d) e
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